Check figures Chapter 10

E 10-2

	Cost for the land:
	

	
	12.250

	
	

	building:
	

	
	16.000


E 10-9

	Purchase Price
	37.500
	

	New Tires
	2.300
	

	Overhaul
	4.400
	

	Cost of Tractor
	44.200
	

	
	
	

	1st year depreciation expense = ((44.200-3.900)/4)*9/12= 
	7.556,25


P 10-2

	a. Straight-line Method
	
	
	

	
	
	
	

	Year
	Depreciation Expense
	Accum Depreciation
	Year-End Book Value

	1
	1.200
	1.200
	48.800

	2
	4.800
	6.000
	44.000

	3
	4.800
	10.800
	39.200

	
	
	
	

	Each year depreciation expense is the same (cost - salvage) / useful life =

	50.000 - 2.000 = 48.000 / 10 = TL
	
	4.800

	
	for the first year partial depreciation is due 

	
	4.800 x 3/12=
	1200
	


	b. Double-Declining Method

	Rate equals double the straight line rate, in this case straight line rate is 100% /10 or 10%; so double rate is 20%

	

	Year
	Depreciation Expense
	Accumulated Depreciation
	Year-End Book Value

	1   from Oct to Dec 
	2.500
	2.500
	47.500
	

	2   from Jan to Oct
	7.125
	9.625
	40.375
	

	 from Oct to Dec
	2.019
	11.644
	38.356
	

	3   from Jan to Oct
	5.753
	17.397
	32.603
	

	from Oct to Dec
	1.630
	19.027
	30.973
	

	
	
	
	
	

	depreciation expense = book value x rate

	no salvage deducted


1st year:  0.20 x 50.000 = TL 10.000 Oct to Dec 3/12 x 10.000 = 2.500

2nd year: 47 500 x 0.20 = 9.000  jan to oct  9/12 x 9.000= 7125

	c. Units of Production Method

	

	Year
	Hours Used
	Depreciation Expense
	Accumulated Depreciation
	Year-End Book Value

	1
	500
	3200
	3200
	46800

	2
	1500
	9600
	12800
	37200

	3
	3000
	19200
	32000
	18000

	 

	unit depreciation expense  = (Cost - salvage) / total units 6,4 per hour

	

	yr 1 = 500 hours x 6.4 per hour = TL 3.200 depreciation expense


P 10-3

	a.  Depreciation base :  (245.000-57.500) =187500/5=Annual Depr.=  37500

	

	b. Depreciation base: (245,000- 57,500 ) = TL 187500 

 depreciation exp = TL 187500 /250,000 km= 0.75/  km  

	     48000 km x 0.75  = TL 36000 

	c. Depreciation base: Book value=245,000

Period

Book Value

Deprec.

Expense

Accum.

Deprec.

1st year

245.000

89.333

89.833

2nd year 1st month

155.167

5172,23
95 005,23

2nd year 2-12 months

149 994.77

54 998,08

150 003,31



	 First year: 245.000 TL x (0.20 x2)= TL 98.000

 11 months =98,000 *11/12=89,833

Second year first month:  book value 245.000 – 89.833= TL 155.167 

Depreciation exp for the second year: 155 167 * .40 = TL 62.066,80  

For the first month: 62.066,80 x 1/12 = TL 5172,23


d.

	Date
	Account Names                                          Debit                       Credit

	 Dec 31
	Depreciation Expense
	60.170,31
	 

	 
	    Accumulated Depreciation
	 
	60.170,31


P 10-4

	1. Cost of mine: 18.680.000 - 2.400.000 =16,280,000

	
	Charge per ton = Cost / total produc. =16,280,000 / 10,000,000 ton  =1.628 per ton

	2. 800,000 tons x 1.628 =1,302,400

	3. Buildings: double declining: 1,600,000 x Rate (=(1/10)x2) =320.000

	 units of production: per ton = 0.16 x  800,000 tons =128,000

	4. Equipment: a: .st line                      = 1960000 / 10 yrs=196,000

	
	                           b: units of production  = 1960000 / 10 000 000 = 0.196 per ton

                                                                   0.196 x 800,000 =156,800


P 10-5

	Depreciation expense before revision=(175.870-25.870)/10=
	150000 /10 =
	15000
	per annum

	Accumulated Depreciation
	3yrs *15000 = 45,000
	
	
	
	

	      Book Value                175,870 - 45,000 = 130,870
	
	
	
	

	New Depreciation Base =130.870- 25870 = 105,000
	
	
	
	

	
	  / 5 years  =
	21,000
	depreciation expense for the fourth year


P 10-6

	Book Value               587.200 - 132800=
	454,400

	New Book Value =     454.400 +142800 =
	597,200

	New Depreciation =     597.200  / 16 =
	37,325

	
	
	
	

	Date
	account
	debit 
	Credit

	
	Depr.Exp
	37,325
	

	 
	   Acc.Depr.
	 
	37,325


